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(A) ¥ * £ (Availability )
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public class MyPlayer
{
public const int LevelMax = 99;
private int hp;
private string name;
public MyPlayer(int inHp) { this.hp =inHp; }
private void SetName(string inName) { this.name = inName; }
public void DoAction() { }
H
(A) var player = new MyPlayer(100);
player.SetName("John");
(B) var player = new MyPlayer();
player.DoAction();
(C) var lvMax = MyPlayer.LevelMax;
(D) MyPlayer.DoAction();
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{
int n = 50;
int div =n/2;
div = n/0;
printf("result = %d", div);
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(A) ﬁi%l 2% L result=0
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int computeArea(int length)

{

return length * length;
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(A) int computeArea(int width){ return width * width; }

(B) int computeArea(int length, int width){ return length * width; }

(C) int computeRectangle(int length, int width){ return length * width; }
(D) int ComputeRectangle(int length, int width){ return length * width; }
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static void Main(string[] args)
{
float s = 0.1f;
while (s <= 0.5f)
{
++s;
Console.WriteLine(s);

}
Console.ReadLine();

}
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(A) Console.WriteLine(i<<1);
(B) Console.WriteLine(Math.Pow(i, 2));
(C) Console.WriteLine(Math.Sqrt(i));
(D) Console.WriteLine(i+=2);
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(A) = Bz B (Box Collider)
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